2 = Aet e ), Th B 47 + 4] Zha} 2 ALY
2 3 1
® A @ A ® A @X



42x3y% = 12xy3 =

2.

® Txy

@ 3x2



3. (2x%3)%x I:] + 4x%y3 = (3y?)3 oA I:] Qo] Aok 227

27y3
2

@ 4xy @ 2x%y ® 3xy? @ 2 ®

3x X




2 —
4. ny+xJ;3y:ax+by?éﬂﬂ,*J—’Fa, b9 G a+ b 79
41 7 43 1 -
Yo Y Y Yy P






6. -2x(x*+3x-1)=ax*+b*+cx¥d W, a+b+c F2? (& a,

b,cE )

@® -6 @ -3 ® -1 @ 0 ®1



7. (2x+3)3x-1)=Ax*+Bx+CoAA 45T A, B, CY FA+B+C
o] #h2?

® -10 @ -5 @0 @ 5 ® 10



7eks] P ), ab o) AFE x . a

8.  (a?b-a*)+a-2(ab® +6b)+b
Fefet.

G AcE y et B, 3x-y O FS 7

&=
=%

t

[¢]






31,2\3 n
10. ((bb){nb A, m+ n o AL Fatolat,

D R
-



11. 9"71 (2 . 5”+1 _ 5;1) _% Zl"ﬂ'ﬁ]

o
Y
rlo
D

@ g+2 @ 25" B 2521
@ 45" @ 45n+2



s F 7x— {2y Bx-y) + (-5x+4y)} - 3y & HI=A At

® 15x - 10y @ 15x+ 10y ® 3x-2y

@ 5x+ 10y ® 3x+ 8y



13. HIAFol aolal o7t b ]l 97]5 2] FulE REAFo] holal &ol7}

afl YEo] Fujof g ujQlx] sfoizt,

B o



a—[3a—{a—-2b-(7a-4b)}]







16. B4 (3x—y): (2x—4y) = 2:3 2y o Ts}o] Zojat.

Beo-



-3b
17. 2a+b=a-bd ), =2 gre?

) @—% ® 0

W N

ol i
ol ot



18. (29x 3P x5o)m =28 x 312 x 520 A wff, m O] HTAZL-S Fotofat. (H,

a, b, ¢, m 2 ZAA5)

D
=%



19.

2 3
X1 =97, X2 = —, X3 = —, x4 = —
X1 X2 X3

X1 X2 - X3 x10 9] @2 Totoiet

,

10

Tty X10 = —olzt ¢

X9






21.

T =AM (1) s (o2, y2) o HHBEA (1, y1) X (22, y2)
x1y2 + y1x2 + yiy2 = F2] ek o] W, (2x, y) X (-y, 3x)
SHH?

D -6x* + 2xy — y? @ —6x% + xy + 3y

® 2x% —xy—y? @ 62° 4y -

® 6x% — xy + 3y?

=
=

X1X2
7k



o,

3X7y8

(=2x2y?)

;o gt Fatelet



23. H=T g EaE?

@ 2% @ 3% ® 415 @ 510 ® 9



. (_1)2n—1 9:'

Tatelat,

n o] ZAHAA W, (=1) + (=1)2 + (=1)* + (=1)* + -

s

24.



25. 132009 1162000 ©] Qo] e]o] A4S Ffelel.

>
=%



